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[.2.2]

TBA T use the short written method Lor division

Solve these division calculation using
a mental method:

52+ 4 =
108+ 9 =
136+ 2=
105+ 5=

What strategy did you use?




[.2.2]

TBAT use the short written method [or division

TLhe 'Bus Stop' method for division:

Divide each .number
. . under the hus sto

455 = § = | 2= petusde

outside. If a number
Layout the carry ik across to
calculation the next nuwmhber

in a hus stop

50145 | 5[\%5

5 goes into |4 2
times with 4 left
oner. This left oner'
part gets corried
across o the

number:

2
5| \'% %

[.2.2]

TBAT wse the short written method Lor division

The '‘Bus Stop' method for division:

We now .need to This gives us our
calulate how marny R
545 go into 45:
2 9

5‘\'4115 145 -+ 5 = 24




Tuesday

2.2. 21
TBAT wuse the short written .method Lor Adivision
with. remainders

Spot my mistakes:

| 0 3 2010
3[4 n A ERW




220

TBAT wuse the short written .method Lor Adivision
with. remainders

Lhe 'Bus Stop' method for division

(w.ith remainders)

Sometimes when we are dividing, .a rumber w.ont
divide perfectly into equal parts. Lt wont [it' into the
number we are dividing.

For example, in 21 + 4 we know that 5 b4s would fit
into 20, bhut there would be | left .over. We wurite this
left onver part as a ‘remainder’ (r):

2l + 4 = 5r]
2. 2.2
TBAT wse the short written method Lor division
With remainders
The 'Bus Stop' imethod [or division (w.ith remainders)
Divide each .ruumhber 5 goes into 23 4
under the bhus stop times with 3 left
233 + 5 = by the nuwmber oner. This left oner'
outside. If a number part gets carried
can't he divided, across to the
Layout the carry ik across to uumber:
calculation the next ruumber
in a hus stop
L
51233 | 5[x3 3 5 (%333




220

TBAT wuse the short written .method Lor Adivision
with. remainders

The 'Bus S.to,[a' .method aﬁor division with remainders)

We now .need to Becawse this is the end We can also write owr
dvide 331:)).3 5 of the calculation, we remainder .as .a
5 goes into 33 6 donit have arywhere fraction hy putting it
i with 3 left to cauriy this left oner over' the rumhber we
to. So, it hecomes our were dividing hy:
ON2K .
remainder !

233 + 5 = Lé6s3

L 6 L 6 r3 |~
5“2"-333 5"21333 233 + 5

b62

Wednesday




g 2.2
TBAT solnve division w.ord .p,no,blm and interpret remainders

Spot my mistakes:

| 4 9 r3 a1 5
51| 32 48 ‘”’&32'4

g 2.2
TBAT solnve division w.ord .p,no,blm and interpret remainders

Division Word Prohlems

Apples are sold in packs of 6. A _ &
farmer harvests 135 .apples. How man  §

packs can he make?

This prohlem is asking .as to divide. However, the
answer is going to give us a remainder:

2 2 r3
6375

How should we .answer the .original question?
Can we have a '‘remainder' of a pack?




g 2.2
TBAT solnve division w.ord .p,no,blm and interpret remainders

Apples are sold in packs of 6. A
farmer harvests 135 .apples. How .man
packs can he make?

The answer would be 22, with 3 apples left

over. The farmer cant make 23 whole packs,

because he would need 3 .more apples to do
this.

g 2.2
TBAT solnve division w.ord .p,no,blm and interpret remainders

Hove a go at this word problem. What .do syou think iyou
need to do with the remainder?

A factory makes 659 ,c}w,col,aiae,b,a,rzs.m,om,d,mé.
They put 5 bhars in each pack to be sold in

supermarkets. How many pocks can they make?
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NO
N

TBAT inwvestigate divisibility rules

What is a multiple?

A numhber that can be divided by another rumber
without a remainder.

For example - 9, 2| .and 30 .are all multiples .of 3.
They can he divided by 3 without o remainder.




TBAT .irwesti divisibility rules

Which of these numbers .are multiples of 37

How do AJOAL krnow?

9 30 4
61 9
21
261 109
4539

"If 1 add all of the digits of a number together
and that number is a multiple of 3, then the
original number will also be a multiple of 3"




4. 2.2]
TBAT inwvestigate divisibility rules

To irwestigate:

O Choose a 3 Adigit ruumber, for example 326
O Add the digits: 3 + 2 + 6 = || (this is not «a

multiple .of 3)
O Test the rule wsing the hus-stop method. Divide

the number by 3, if there is no remainder, the
rumber is a amultiple .of 3:
| 0 & & 2
313 3%

Because there is .« remainder, this would support the rule,
because the addition of the digits (I1) is .also not a multiple
of 3.

4. 2.2]
TBAT inwvestigate divisibility rules

Lnwvestigate 10 .more numhbers to test the rule

(Tw.o rumbers have heen done for you as an example)

Multiple of 3? (Answer

Do the digits total a L .
Number multiple of 3? Division Calculation has no remainder)
4+1+5=10 138r1
415 (No) 3[a15 No
9+5+1=15 317
Yes

2ot (Yes, because 5 x 3 = 15) 3|951




